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Questions on the Mean

Q1.

Steph's weight in kilograms is 2x + 9
Kyle's weight in kilograms is 4x = 7

Write down an expression, in terms of x, for the mean of their weights.

2o +4 + &4 -7 Cx + 2
2 B 2
3o + |
........................................................... kilograms
(Total for question = 2 marks)
Q2.
There are 15 children at a birthday party. — — -
The mean age of the 15 children is 7 years. lo kel 4335 = 15 x1 = 10§
9 of the 15 children are boys. To & 50-35 <qe§ = Qx5 = &5 _
The mean age of the boys is 5 years.
Total airls o ¢ o
Work out the mean age of the girls. et p) thd
. ’
C‘)tfls meaa = _QO =~ 10
&
10
........................................................... years

(Total for question = 3 marks)

Q3.
50 students each did a mathematics test. —
The mean score for these 50 students was 8.4 ) o Lol §0 X 2.4 - 4 20
There were 30 boys. _ N
The mean score for these 30 boys was 8.25 Toéal é“"]’ Jox 825 = 247-5 -
Work out the mean score for the girls. T o £ ﬂfr’S S )75
ﬁlr[.f, Mo = | ?72-%
20
= %.625

(Total for question = 3 marks)



Q4. To él«'( fﬁo./' ﬂ.‘r“ 2 T a ts3 = 3 S ¢ Q
Tobal £Lor boys 171 x165 = 280§ &
23 girls have a mean height of 153 cm. -

17 boys have a mean height of 165 cm. Toblal €or 4rovp 632e

Work out the mean height of all 40 children.
Mmean Cor q ove = 63 24

40

(Total for Question is 3 marks)
Q5.

The table gives information about the time it took each of 80 children to do a jigsaw puzzle.

Number of children Mean time (minutes) ’ro &A- ( T ~2

Boys 32 324 103¢-%
Girls 48 28.4 1363.2
2400
Work out the mean time for all 80 children.
_ 24o00
h ¢an qcal‘ 3f‘au‘o - 4—
?o

........................................................... minutes
(Total for Question is 3 marks)

Q6.

Alan works in a gym.
One week he recorded the number of people who visited the gym each day.

For Monday to Friday, the mean number of people per day was 98 W Lo ( e wee %3 éoé‘q_ I
For the whole week, the mean number of people per day was 114
—-— ‘
On Saturday, 162 people visited the gym. - 7 x\\ &
Work out the number of people who visited the gym on Sunday. _ 29¢

Mon - Fry Cobal 4 xS = 4 9o
Sat ] 62
6§ 2

(Total for question = 3 marks)

Sow T14F% - 6S2 = 146



ar To€al Lov class = J0xbo = L&oo

There are 10 boys and 20 girls in a class. . -
The class has a test. To & bor 3:/!,; = 20x5¢ = |o&o ~
The mean mark for all the class is 60 T o Eal ter beo qf 720
The mean mark for the girls is 54
Work out the mean mark for the boys. Me é/ !“'J s —_ 220 <592
(- N g} - -
10

(Total for question = 3 marks)

Qs.
There are 18 packets of sweets and 12 boxes of sweets in a carton. To bal 30 k14 = 420
et
The mean number of sweets in all the 30 packets and boxes is 14 Suee
The mean number of sweets in the 18 packets is 10 Petecets I1gfx10 = [¥O
Work out the mean number of sweets in the boxes. Tokul
Rores 240
1o h(
RoxesS mean = 240 — 26
12
20
(Total for question = 3 marks)
Q9.
Ed has 4 cards.
There is a number on each card.
12 6 15 ?

The mean of the 4 numbers on Ed's cards is 10 Toéa)l = 4 K [0 = &0

Work out the number on the 4th card. | 5 -G +1% = 373 46-33 =7

(Total for Question is 3 mark)



Q10.

* Tina went on a cycling holiday.
For the first 5 days, Tina cycled a mean distance of 55 kilometres per day.

On the sixth day, Tina cycled 50 kilometres.

Andy says,
"for all 6 days, the mean distance that Tina cycled per day was 52.5 kilometres".
Is Andy correct? N o To bl £ur S A«-xj =SS xS =218
You must show your working.
y g G e o{m] SO +
Tobtal Hur & dag s 32¢
Mean = 329 = §4.17not §2:5F K=
é (Total for question = 4 marks)
Q11.
There are 10 boys and 20 girls in Mrs Brook's class.
Mrs Brook gave all the class a test. Class Eobel 30 x 60 = [1¥oo
The mean mark for all the class is 60 Gily  Cokal 20x S6 = ll2o

The mean mark for the girls is 56

@o:]s Eobal ¢ %0

Work out the mean mark for the boys.

Ga‘aS Mmean = c&o0 _ (8

o

68

(Total for Question is 3 marks)

Q12.

Alex is xcm tall.

Bob is 10cm taller than Alex.
Cath is 4cm shorter than Alex.

Write an expression, in terms of x, for the mean of their heights in centimetres.

X 4+ X +10 + X -4
3

= 3 + 6 >C + 2.

=

|

—3 (Total for question = 3 marks)



Q13.

Ken is x years old.
Liam is (x + 4) years old.
Tina is 3x years old.

Write an expression, in terms of x, for the mean of their ages.

oL+ L A4 + 3K Sx +4

S 3

N

(Total for question = 2 marks)

Q14.

Hertford Juniors is a basketball team.

At the end of 10 games, their mean score is 35 points per game.

At the end of 11 games, their mean score has gone down to 33 points per game.

How many points did the team score in the 11th game?

Tobal For Il qanec = 33 x Il = 363

Tok€el '1c°-f 10 jawes = 35 x 10 = 3850 ~

“ek Skhe ' 3

(Total for Question is 3 marks)
Q15.

25 students in class A did a science exam. &or b 0A®
30 students in class B did the same science exam.
Tokal A 25x67-8 = 1645 —

The mean mark for the 25 students in class A is 67.8
The mean mark for all the 55 students is 72.0 Tolel R = 2268

Work out the mean mark for the students in class B.
Mcanw £or B = 2265 - 9¢€. ¢
(V]
3 7.

(Total for Question is 3 marks)



